#### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

CH - 8

# **VALUATION OF INVENTORIES**



DANGAL QUESTIONS						
ICAI RTP QUESTIONS	ICAI PAST QUESTIONS	TOTAL QUESTIONS				
3	22	25				

8. 1 | Page

N.	AHTA PROFESSIONAL CLASSES	M:8878819888 / 8518819888

8. **2** | Page

N.	AHTA PROFESSIONAL CLASSES	M:8878819888 / 8518819888

8. **3 |** Page

#### NAHTA PROFESSIONAL CLASSES

M:8878819888 / 8518819888

		Lets DANGAL with ICAI RTP QUESTIONS							
	MAY 18								
Q1>	> Closing stock is valued by XYZ Stores on generally accepted accounting principles.								
	Stock taking for the year ended 31st March, 2017 was completed by 10th April, 2017, the valuation of								
	which showed a stock figure of Rs. 1,67,500 at cost as on the completion date. After the end of the								
	accounti	ing y	ear and till the date of completion of stock taking, sales for the next year	were made for Rs.					
	6,875, p	rofit	margin being 33.33 percent on cost. Purchases for the next year included	l in the stock					
	amounte	ed to	Rs. 9,000 at cost less trade discount 10 percent. During this period, goods	were added to					
	stock of the mark up price of Rs. 300 in respect of sales returns. After stock taking it was found that								
	there were certain very old slow moving items costing Rs. 1,125 which should be taken at Rs. 525 to								
	ensure disposal to an interested customer. Due to heavy floods, certain goods costing Rs. 1,550 were								
	received from the supplier beyond the delivery date of customer. As a result, the customer refused to								
	take delivery and net realizable value of the goods was estimated to be Rs. 1,250 on 31st March, 2017.								
	You are required to calculate the value of stock for inclusion in the final accounts for the year ended								
	31st March, 2017.								
ANS.			Statement showing the valuation of stock as on 31st March, 2017						
				₹					
		Α	Value of Stock as on 10th October, 2017	1,67,500					
		В	Add: Cost of sales after 31st March, till stock taking						
			(₹ 6,875 – ₹ 1,719)	5,156					
		С	Less: Purchases for the next period (net)	8,100					
		D	Less: Cost of Sales Returns	225					
		E	Less: Loss on revaluation of slow moving inventories	600					
		F	Less: Reduction in value on account of default	300					
		G	Value of Stock on 31st March, 2017	<u>1,63,431</u>					

8. **4** | Page

#### **NAHTA PROFESSIONAL CLASSES**

	MAY 2019
2>	A trader prepared his accounts on 31st March, each year. Due to some unavoidable reasons, no stock
	taking could be possible till 15th April, 2018 on which date the total cost of goods in his godown came
	to Rs. 50,000. The following facts were established between 31st March and 15th April, 2018.
	(i) Sales Rs. 41,000 (including cash sales Rs. 10,000)
	(ii) Purchases Rs. 5,034 (including cash purchases Rs. 1,990)
	(iii) Sales Return Rs. 1,000.
	(iv) On 15th March, goods of the sale value of Rs. 10,000 were sent on sale or return basis to a custome
	the period of approval being four weeks. He returned 40% of the goods on 10th April, approving the rest;
	the customer was billed on 16th April.
	(v) The trader had also received goods costing Rs. 8,000 in March, for sale on consignment basis; 20%
	of the goods had been sold by 31st March, and another 50% by the 15th April. These sales are not
	included in above sales.
	Goods are sold by the trader at a profit of 20% on sales.
	You are required to ascertain the value of Inventory as on 31st March, 2018.
VS.	Statement of Valuation of Stock on 31st March, 2018

#### NAHTA PROFESSIONAL CLASSES

#### M:8878819888 / 8518819888

		₹	₹
Value	of stock as on 15th April, 2018		50,000
Add:	Cost of sales during the period from 31st March, 2018 to 15th April, 2018		
	Sales (₹ 41,000 – ₹ 1,000)	40,000	
	Less: Gross Profit (20% of ₹ 40,000)	8,000	32,000
	Cost of goods sent on approval basis		
	(80% of ₹ 6,000)		4,800
			86,800
Less:	Purchases during the period from 31st March, 2018 to		
	15th April, 2018	5,034	
	Unsold stock out of goods received on consignment		
	basis (30% of ₹ 8,000)	2,400	7,434
			79,366

MAY 2020

Sky Ltd. keeps no stock records but a physical inventory of stock is made at the end of each quarter and the valuation is taken at cost. The company's year ends on 31st March, 2018 and their accounts have been prepared to that date. The stock valuation taken on 31st March, 2018 was however, misleading and you have been advised to value the closing stocks as on 31st March, 2018 with the stock figure as on 31st December, 2017 and some other information is available to you:

(i) The cost of stock on 31st December, 2017 as shown by the inventory sheet was Rs. 80,000.

(ii) On 31st December, stock sheet showed the following discrepancies:

a) A page total of Rs. 5,000 had been carried to summary sheet as Rs. 6,000.

(b) The total of a page had been undercast by Rs. 200.

(iii) Invoice of purchases entered in the Purchase Book during the quarter from January to March, 2018 totalled Rs. 70,000. Out of this Rs. 3,000 related to goods received prior to 31st December, 2017. Invoices

#### NAHTA PROFESSIONAL CLASSES

	related to goods dispatched before 31st December, 2017. Goods dispatched to customers before 31st								
	March, 2018 but invoiced in April, 2018 totalled Rs. 4,000.								
	v) During the final quarter, credit notes at invoiced value of Rs. 1,000 had b	een issued	to customers ii						
	respect of goods returned during that period. The gross margin earned by the	e company	is 25% of cost						
	You are required to prepare a statement showing the amount of stock at cos	st as on 31	st March, 2018						
	Transfer of ownership takes place at the time of delivery of goods.								
INS.	Valuation of Physical Stock as at March 31, 20	18							
			₹						
	Stock at cost on 31.12.2017		80,000						
	Add: (1) Undercasting of a page total	200							
	(2) Goods purchased and delivered during January – March, 2018								
	₹ (70,000 – 3,000 + 4,000)	71,000							
	(3) Cost of sales return ₹ (1,000 – 200)	800	72,000						
			1,52,000						
	Less:(1) Overcasting of a page total ₹ (6,000 – 5,000)  (2) Goods sold and dispatched during January – March,  2018	1,000							
	₹ (90,000 – 5,000 + 4,000) 89,000								
	Less: Profit margin $\left(89,000 \times \frac{25}{125}\right)$ $\frac{17,800}{125}$	71,200	72,200						
	Value of stock as on 31st March, 2018		79,800						

### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

	Date of Purchase	Price Rs.	Quantity	Price × Quantity Rs.			
III. We	On Weighted Average basis ighted Average Cost is computed as i	under:					
				78,100			
	S00 kg @ Rs. 57 per kg  Value of Closing Stock						
	800 kg @ Rs. 62 per kg						
	II. On LIFO basis						
I	ue of Closing Stock						
	0 kg @ Rs. 60 per kg			83,000			
	00 kg @ Rs. 65 per kg			18,000			
	On FIFO basis			65,000			
Par	ticulars			Rs			
:	VA	LUATION OF CLOSING S	TOCK				
(iii,	) 'Weighted Average' basis.						
<i>(i)</i>	'First in First Out' basis,(ii)		'Last in First	Out' basis, and			
Cal	culate the values of closing stock of	raw materials according t	to—				
900	down.						
		nen si, zoto ine compan	y 1144 1,300 kg 01	TAVV MALETIAI IN ILS			
1.2/0	ile preparing its final accounts on Mo		-				
	Feb. 29	1,000 kg	@ Rs. 65				
	Dec. 18	1,500 kg	@ Rs. 60				
	July 13 Oct. 10	3,000 kg	@ Rs. 56	· •			
	May 26	1,200 kg 2,500 kg	@ Rs. 57 @ Rs. 59	·			
	April 2	800 kg	@ Rs. 62				

8.**8** | Page

#### **NAHTA PROFESSIONAL CLASSES**

	Oct. 10, 2017		56	3,000	1,68,000
	Dec. 18, 2017		60	1,500	90,000
	Feb. 29, 2018		65	1,000	65,000
				10,000	5,88,500
	Weighted Average Price = 5,88,500  Value of Closing Stock, viz., 1,300	·		76,505	
Q2>	A firm dealing in cloth has 30,000		• •		
	method. It purchased 40,000 metro metre and sold during the same per firm during the period ending on 3	eriod 60,000 meters	@ Rs. 25	per metre. Ascertai	in the profit of the
	workings.	n March, 2010, the	e closing ste	ick to be value on	
Sol:	DR.	CR.			
	Particulars Particulars	Rs.	Particulars		Rs.
	To Opening Stock (30000 x ?10) To Purchases (40000 x ?12) To Gross Profit	4,80,000	By Sales (600 By Closing St [30000 + 400	ock (10000 x Rs.10)	15,00,000
		16,00,000			16,00,000
		* *			
03>	In pricing the patrol cold consise of	etation V follows El	EO vulnilo, con	avica station V follo	
Q3>	In pricing the petrol sold, service s	station X follows Fli	FO while ser	vice station Y follo	
Q3>	In pricing the petrol sold, service s  2018 both had the same quantity				ows LIFO. On April Ist
<b>Q</b> 3>	, , ,	of petrol in stock, \	viz. 8,000 lit	tres at Rs. 25 per l	ows LIFO. On April Ist litre. During April
Q3>	2018 both had the same quantity	of petrol in stock, v	riz. 8,000 lit res at Rs. 2	tres at Rs. 25 per l	ows LIFO. On April Ist litre. During April For each of these
Q3>	2018 both had the same quantity each station purchased additional	of petrol in stock, v supplies of 3,000 lit	viz. 8,000 lit res at Rs. 2 7 per litre. 0	tres at Rs. 25 per l 26 per litre. Sales f Calculate for each s	ows LIFO. On April Ist litre. During April For each of these service station the
	2018 both had the same quantity each station purchased additional s stations during the month were 10	of petrol in stock, v supplies of 3,000 lit	viz. 8,000 lit res at Rs. 2 7 per litre. 0	tres at Rs. 25 per l 26 per litre. Sales f Calculate for each s	ows LIFO. On April Ist litre. During April For each of these service station the
Q3>	2018 both had the same quantity each station purchased additional s stations during the month were 10	of petrol in stock, v supplies of 3,000 lit	viz. 8,000 lit res at Rs. 2 7 per litre. 0	tres at Rs. 25 per l 26 per litre. Sales f Calculate for each s	ows LIFO. On April Ist litre. During April For each of these service station the

#### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

Pai			JL	KVICE SIA	TION X	USING FI	FO METHO	D)		
	rticulars									Rs.
A.	Opening Sto	ock 8,000 lit	res @ Rs.	25						2,00,000
В.	Purchases 3	3,000 litres (	D Rs. 26							78,000
C.	D. Cost of Sales [A + B - C]  E. Sales 10,000 litres @ Rs. 27								(26,000)	
D.									2,52,000	
E.									2,70,000	
F.	Profit durin	g April [E –	DJ							18,000
			SE	RVICE STA	TION Y (	USING LI	FO METHO	D)		
Pai	rticulars									Rs.
A.	Opening Stock	8,000 litres	@ Rs. 25							2,00,000
B.	Purchases 3,0	00 litres @	Rs. 26							78,000
C.	Less: Value of	Closing Sto	ck: [1,000 l	itres @ Rs. 2	25]					(25,000)
D.	Cost of Sales	[A + B - C	J							2,53,000
Ε.	E. Sales: 10,000 litres @ Rs. 27								2,70,000	
F.	F. Profit during April [E - D]							17,000		
ı> Ca	alculate Cost	of Goods	Sold, Valu	ue of Closiv	ng Stock (	and Profit	under LIF	O method o	of stock ve	aluation
fro	om the follow	wing inforv	nation:				under LIF	O method o	of stock vo	aluation
fro		wing inforv	nation:	ue of Closiv ock 200 uni			under LIF	O method o	of stock vo	aluation
fro	om the follow	wing inforn 2017	nation: Sto		its at Rs.	6 each	under LIF	O method o	of stock vo	aluation
fro De Jai	om the follow	wing inforv 2017 218	nation: Sto Bo	ock 200 uni	its at Rs. nits at R	6 each s. 8 each		O method o	of stock vo	aluation
fro De Jai	om the follovecember 30,	wing inforv 2017 118 118	nation: Sto Boo Boo	ock 200 uni ught 240 u	its at Rs. nits at R nits at R	6 each s. 8 each s. 10 each		O method o	of stock ve	aluation
fro De Jai Fei	om the follow ecember 30, nuary 16, 20 bruary 3, 20	wing inforv 2017 118 118	nation: Sto Boo Boo Boo	ock 200 uni ught 240 u ught 220 u ught 280 u	its at Rs. inits at R inits at R	6 each s. 8 each s. 10 each s. 12 each		O method o	of stock ve	aluation
fro De Jai Fei	om the follow ecember 30, nuary 16, 20 ebruary 3, 20 ebruary 21,20	wing inforv 2017 118 118	nation: Sto Boo Boo units we	ock 200 uni ught 240 u ught 220 u ught 280 u	its at Rs. inits at R inits at R inits at R Rs. 16 eac	6 each s. 8 each s. 10 each s. 12 each ch	)		of stock vo	aluation
fro  De  Jai  Fei  Du	om the follow ecember 30, nuary 16, 20 ebruary 3, 20 ebruary 21,20	wing inforv 2017 118 118	nation: Sto Boo Boo units we	ock 200 uni ught 240 u ught 220 u ught 280 u ere sold at	its at Rs. inits at R inits at R inits at R Rs. 16 eac	6 each s. 8 each s. 10 each s. 12 each ch	)		of stock ve	aluation  Balance
fro  De  Jai  Fei  Du	om the follow ecember 30, nuary 16, 20 ebruary 3, 20 ebruary 21,20	wing inforv 2017 118 118	nation: Sto Boo Boo units we	ock 200 uni ught 240 u ught 220 u ught 280 u ere sold at	its at Rs. inits at R inits at R inits at R Rs. 16 eac	6 each s. 8 each s. 10 each s. 12 each ch	LIFO MET		of stock ve	
fro  De  Jai  Fei  Du	om the follow ecember 30, nuary 16, 20 obruary 3, 20 obruary 21,20 uring March,	wing inform 2017 218 218 2018, 800	Book works we STOR	ught 240 u ught 220 u ught 220 u ught 280 u ere sold at ES LEDGER	its at Rs. Inits at R Inits at R Inits at R RS. 16 eac	6 each s. 8 each s. 10 each s. 12 each ch	LIFO MET	THOD)		Balance
fro  De  Jai  Fei  Du	om the follow ecember 30, nuary 16, 20 obruary 3, 20 obruary 21,20 uring March,	wing inform 2017 218 218 2018, 800	Book works we STOR	ught 240 u ught 220 u ught 220 u ught 280 u ere sold at ES LEDGER	its at Rs. Inits at R Inits at R Inits at R RS. 16 eac	6 each s. 8 each s. 10 each s. 12 each ch	LIFO MET	THOD)		Balance

8. **10** | Page

#### NAHTA PROFESSIONAL CLASSES

#### M:8878819888 / 8518819888

Jan 16	240	8	1,920		_		240	8	1,920
							200	6	1,200
Feb 3	220	10	2,200				240	8	1,920
							220	10	2,200
Feb 21	280	12	3,360	ŀ			200	6	1,200
				ŀ			240	8	1,920
							220	10	2,200
							280	12	3,360
March				280	12	3,360			
				220	10	2,200			
				240	8	1,920			
				60	6	360	140	6	840
			7,480			7,840			

- 1. Cost of Goods Sold = Rs. 7,840 (i.e. Rs. 3,360 + 2,200 + 1,920 + 360)
- 2. Stock at the end = Rs. 840
- 3. Profit = Sales Cost of Goods Sold
- $= (800 \times Rs. 16) (Rs. 3,360 + Rs. 2,200 + Rs. 1,920 + Rs. 360) = Rs. 12,800 Rs. 7,840$
- = Rs. 4,960

### Q5> The following are the details of a spare part of Sriram Mills:

01.01.2018	Opening stock	Nil
01.01.2018	Purchases	100 units @ Rs. 30 per unit
15.01.2018	Issued for consumption	50 units
01.02.2018	Purchases	200 units @ Rs. 40 per unit
15.02.2018	Issued for consumption	100 units
20.02.2018	Issued for consumption	100 units
01.03.2018	Purchases	150 units @ Rs. 50 per unit
15.03.2018	Issued for consumption	100 units

Required: Find out the Value of Stock as on 31.03.2018 if the company follows: (a) First in First Out

#### NAHTA PROFESSIONAL CLASSES

### M:8878819888 / 8518819888

basis; (b) Last in First Out basis; (c) Weighted Average basis.

Sol:

### (1) STOCK LEDGER (ON FIFO BASIS)

Date			Receipts	Sales			Balance		
	Quantity	Rate	Amount	Quantity	Rate	Amount	Quantity	Rate	Amount
01.01.2018	Balance								Ni
01.01.2018	100	30	3,000				100	30	3,000
15.01.2018				50	30	1,500	50	30	1,500
01.02.2018	200	40	8,000				50	30	1,500
							200	40	8,000
15.02.2018				50	30	1,500			
				50	40	2,000	150	40	6,000
20.02.2018				100	40	4,0 00	50	40	2,000
01.03.2018	150	50	7,500				50	40	2,000
							150	50	7,500
15.03.2018				50	40	2,000			
				50	50	2,500	100	50	5,000

Therefore, the Value of Stock as on 31.3.2018: 100 units @ Rs. 50 = Rs. 5,000.

### (B) STOCK LEDGER (ON LIFO BASIS)

Date			Receipts	Sales			Balance		
	Quantity	Rate	Amount	Quantity	Rate	Amount	Quantity	Rate	Amount
01.01.2018	Balance								Ni
01.01.2018	100	30	3,000				100	30	3,000
15.01.2018				50	30	1,500	50	30	1,500
01.02.2018	200	40	8,000				50	30	1,500
							200	40	8,000
15.02.2018				100	40	4,000	50	30	1,500
							100	40	4,000
20.02.2018				100	40	4,000	50	30	1,500
01.03.2018	150	50	7,500				50	30	1,500
							150	50	7,500
15.03.2018				100	50	5,000	50	30	1,500
							50	50	2,500

8. **12 |** Page

#### NAHTA PROFESSIONAL CLASSES

#### M:8878819888 / 8518819888

Therefore, the Value of Stock as on 31.3.2018
= [50 units @ Rs. 30 + 50 units @ Rs. 50] = Rs. 4,000

#### © STOCK LEDGER (ON WEIGHTED AVERAGE BASIS)

Date			Receipts			Sales					
	Quantity	Rate	Amount	Quantity	Rate	Amount	Quantity	Rate	Amount		
		Rs.	Rs.		Rs.	Rs.		Rs.	Rs.		
01.01.2018	Balance								Nil		
01.01.2018	100	30	3,000				100	30	3,000		
15.01.2018				50	30	1,500	50	30	1,500		
01.02.2018	200	40	8,000				250	38	9,500		
15.02.2018				100	38	3,800	150	38	5,700		
20.02.2018				100	38	3,800	50	38	1,900		
01.03.2018	150	50	7,500				200	47	9,400		
15.03.2018				100	47	4,700	100	47	4,700		

Therefore, the Value of Stock as on 31.3.2018

= 100 units @ Rs. 47 = Rs. 4,700.

Q6> Navkar Ltd. Was following LIFO method of valuation of stock. Due to promulgation of revised accounting

standard, they want to switch over to FIFO method. From the following information:

(i) Draw up stock ledgers under FIFO and LIFO methods of valuation of stocks.

(ii) Find out the closing stock and cost of materials consumed under each of the above two methods:

Opening Stock:	5,000 MT @ Rs. 22 per MT Rs. 1,10,000
Purchases:	
1.6.2018	1,000 MT @ Rs. 30 per MT
5.6.2018	2,000 MT @ Rs. 35 per MT
10.6.2018	1,500 MT @ Rs. 38 per MT
15.6.2018	1,500 MT @ Rs. 35 per MT
20.6.2018	2,000 MT @ Rs. 32 per MT
25.6.2018	2,000 MT @ Rs. 35 per MT

#### **NAHTA PROFESSIONAL CLASSES**

#### M:8878819888 / 8518819888

30.6.2018	1,500 MT @ Rs. 30 per MT
Issues:	
1-5.6.2018	2,000 MT
6-10.6.2018	3,000 MT
11-20.6.2018	4,000 MT
21-25.6.2018	3,000 MT
26-30.6.2018	3,000 MT

Sol:

### STOCK LEDGER (ON FIFO BASIS)

	1	Purchase	s		Sales		Balance			
Date	Quantity	Rate	Amount	Quantity	Rate	Amount	Quantity	Rate	Amount	
		Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	Rs.	
2018	Op. Bal.					5,000	22	1,10,000		
June 1	1,000	30	30,000				5,000	22	1,10,000	
							1,000	30	30,000	
June 1-5				2,000	22	44,000	3,000	22	66,000	
							1,000	30	30,000	
June 5	2,000	35	70,000				3,000	22	66,000	
							1,000	30	30,000	
							2,000	35	70,000	
June 6-10				3,000	22	66,000	1,000	30	30,000	
							2,000	35	70,000	
June 10	1,500	38	57,000				1,000	30	30,000	
							2,000	35	70,000	
							1,500	38	57,000	
June 15	1,500	35	52,500				1,000	30	30,000	
							2,000	35	70,000	
							1,500	38	57,000	
							1,500	35	52,500	
June 11-20				1,000	30	30,000				
				2,000	35	70,000				
				1,000	38	38,000	500	38	19,000	
							1,500	35	52,500	
June 20	2000	32	64,000				500	38	19,000	
							1,500	35	52,500	
							2,000	32	64,000	

#### NAHTA PROFESSIONAL CLASSES

#### M:8878819888 / 8518819888

June 21-25				500	38	19,000			
				1,500	35	52,500			
				1,000	32	32,000	1,000	32	32,000
June 25	2,000	35	70,000				1,000	32	32,000
							2,000	35	70,000
June 26-30				1,000	32	32,000			
				2,000	35	70,000	_	_	_
June 30	1500	30	45,000				1,500	30	45,000
Total			3,88,500			4,53,500			

Particulars	FIF0	LIFO
Closing Stock	Rs. 45,000	Rs. 45,000
Cost of Materials Consumed	Rs. 4,53,500	Rs. 4,53,500

Assumption: In case of purchases and issues of goods on the same day, it has been assumed that the

issues were made before making purchases.

Prom the following data, find out value of inventory as on 30th April using (a) LIFO method, and (b)

Weighted Average Method:

1. 1st April Purchased	10 units @ Rs.70 per unit
2. 6th April Sold	5 units @ Rs.90 per unit
3. 9th April Purchased	20 units @ Rs.75 per unit
4. 18th April Sold	14 units @Rs.100 per unit

Sol: (A) VALUATION OF CLOSING INVENTORY BY LIFO METHOD

Date		Receipts			Issue		Balance			
	Unit	Cost/unit	Amount	Unit	Cost/unit	Amount	Unit	Cost/unit	Amount	
Apr. I	10	70	700				10	70	700	
Apr. 6				5	70	350	5	70	350	
Apr. 9	20	75	1500				5	70	350	
							20	75	1500	
Apr. 18				14	75	1,050	5	70	350	
							6	75	450	

Value of Closing Inventory as per LIFO Method =  $(4 \text{ units } \times \text{Rs. } 70) + (6 \text{ units } \times \text{Rs. } 75) = \text{Rs. } 730$ 

### (B) VALUATION OF CLOSING INVENTORY BY WEIGHTED AVERAGE METHOD

Date	Receipts				Issue		Balance			
	Unit	Cost/unit	Amount	Unit	Cost/unit	Amount	Unit	Cost/unit	Amount	
Apr. I	10	70	700				10	70	700	
Apr. 6				5	70	350	5	70	350	
Apr. 9	20	75	1500				25	74	1850	
Apr. 18				14	74	1,036	11	74	814	

Value of Closing Inventory as per WEIGHTED AVERAGE Method: = Rs. 814

Q8>	HP is a leading distributor of petrol. A detail inventory of petrol in hand is taken when the books are					
	closed at the end of each month. At the end of	month following information is available:				
	Sales:	Rs. 47,25,000				
	General overheads cost	Rs. 1,25,000				
	Inventory at beginning 1,00,000 litres @ Rs. 15 per litre					
	Purchases:					
	June I two lakh litres @ Rs. 14.25June 30 one la	kh litres @ Rs. 15.15				
	Closing inventory 1.30 lakh litres					
	Compute the following by the FIFO as per AS 2:					
	(i) Value of Inventory on June, 30.(ii)	Amount of cost of goods sold for June.				
	(iii) Profit/Loss for the month of June					
Sol:	(i) Cost of closing inventory for 1,30,000 litres as on 3	O <sup>th</sup> June				
	100 000 limas @ Re 1515	ICI				

(i)	Cost of closing inventory for 1,30,000 litres as on 30th June	Rs
	1,00,000 litres @ Rs. 15.15	15,15,000
	30,000 litres @ Rs. 14.25	4,27,500
	Total	19,42,500
(ii)	Calculation of Cost of Goods Sold	Rs
	Opening inventories (1,00,000 litres@ Rs. 15)	15,00,000
	Purchases: June-1 (2,00,000 litres @ Rs. 14.25)	28,50,000
	June-30 (1,00,000 litres @ Rs. 15.15)	15,15,000
		58,65,000

8. **16** | Page

#### NAHTA PROFESSIONAL CLASSES

	Less: Closing inventories			19,42,500			
	Cost of goods sold			39,22,000			
(iii)	Profit = Rs. 47,25,000 -(Rs. 39,22,500 +	Rs. 1,25,000) = Rs. 6,77,500					
Uns	Unsold units with Agent						
Cos	st per unit			Rs. 10			
Est	timated Selling Price per unit as at Balance Sh	eet Date		Rs. 8			
Age	ent's Commission on Sales			5%			
Who	nat should be the Value of Closing Stock?						
SOL	LUTION:						
1. C	Cost of Closing Stock (1,000 x Rs. 10)			Rs. 10,000			
$H_{\gamma}$	Net Realizable Value						
A. 7	Total Realizable Value (1,000 x Rs. 8)			Rs. 8,000			
B. 1	Less: Realizable Expenses (here agent's comm	ission is realizable expense) (	Rs. 8,000 x 5/100)	Rs. 400			
C. 1	Net Realizable Value (A – B)			Rs. 7,600			
	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.	00 as calculated above) and 1	JRV (which is Rs. 7,600), NRV	is lower, the			
said	Valuation since out of cost (which is Rs. 10,00						
said > Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.	S, and T which are neitl	ner similar nor interchango	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R,	S, and T which are neitl ar ending 31st March 201	ner similar nor interchango 8, the historical cost and	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, ne of closing of its accounts for the year	S, and T which are neitl ar ending 31st March 201	ner similar nor interchango 8, the historical cost and	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, ne of closing of its accounts for the year lizablevalue of the items of the dosing	S, and T which are neitl ar ending 31st March 201 stock are determined as	ner similar nor interchange 8, the historical cost and follows:	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, me of closing of its accounts for the year lizablevalue of the items of the dosing	S, and T which are neith ar ending 31st March 201 stock are determined as Historical Cost	ner similar nor interchange 8, the historical cost and follows: Net Realizable Value	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, ne of closing of its accounts for the yearlizablevalue of the items of the dosing	S, and T which are neitl ar ending 31st March 201 stock are determined as Historical Cost 5,70,000	ner similar nor interchange 8, the historical cost and follows:  Net Realizable Value 4,75,000	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, me of closing of its accounts for the yearlizablevalue of the items of the dosing	S, and T which are neitle ar ending 31st March 201 stock are determined as Historical Cost 5,70,000 9,80,000	ner similar nor interchange 8, the historical cost and follows:  Net Realizable Value 4,75,000 10,32,000	eable. At the			
> Bes	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, ne of closing of its accounts for the year lizable value of the items of the dosing    Items	S, and T which are neith ar ending 31st March 201 stock are determined as Historical Cost 5,70,000 9,80,000 3,16,000	ner similar nor interchange 8, the historical cost and follows:  Net Realizable Value 4,75,000 10,32,000 2,89,000	eable. At the			
said  Bes  tim  rea	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, ne of closing of its accounts for the yearlizablevalue of the items of the dosing    Items	S, and T which are neitled ar ending 31st March 201 stock are determined as Historical Cost 5,70,000 9,80,000 3,16,000 4,25,000 1,60,000	ner similar nor interchange 8, the historical cost and follows:  Net Realizable Value 4,75,000 10,32,000 2,89,000 4,25,000 2,15,000	eable. At the			
said  Bes  tim  read	Valuation since out of cost (which is Rs. 10,00 d unsold stock should be valued at Rs. 7,600.  st Ltd. Deals in five products, P, Q, R, me of closing of its accounts for the year lizable value of the items of the dosing    Items	S, and T which are neitled ar ending 31st March 201  stock are determined as  Historical Cost  5,70,000  9,80,000  3,16,000  4,25,000  1,60,000  s at 31st March 2018 as p	ner similar nor interchange 8, the historical cost and follows:  Net Realizable Value 4,75,000 10,32,000 2,89,000 4,25,000 2,15,000 per AS 2 "Valuation of Interchange 10.32.000	eable. At the net			

#### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

	Item	Historical Cost	Net realizable value	Valuation of closing stock				
	Р	5,70,000	4,75,000	4,75,000				
	Q	9,80,000	10,32,000	9,80,000				
	R	3,16,000	2,89,000	2,89,000				
	5	4,25,000	4,25,000	4,25,000				
	T	1,60,000	2,15,000	1,60,000				
				23,29,000				
The	e value of i	nventory as at 31st Marci	n 2018 = Rs. 23,29,000.					
· X ı	who was clo	sing his books on 31.3.20	018 failed to take the actual	Stock which he did only on 9th Apri				
wh	nen it was a	scertained by him to be	worth Rs. 25,000.					
lt	It was found that sales are entered in the sales book on the same day of dispatch and return inwards							
in	in the returns book as and when the goods are received back. Purchases are entered in the purchases							
daį	ybook once	the invoices are received.						
It	was found t	hat sales between 31st M	larch and 9th April as per the	sales day book are Rs. 1,720.				
Pui	Purchases between 31st March and 9th April as per purchases day book are Rs. 120, out of these goods							
am	amounting to Rs. 50 were not received until after the stock was taken.							
	Goods invoiced during the month of March, but goods received only on 4th April, amounted to Rs. 100.							
	ods invoicea	during the month of Mo	rch, but goods received only	on 4 <sup>th</sup> April, amounted to Rs. 100.				
God		during the month of Mo		on 4 <sup>th</sup> April, amounted to Rs. 100.				
Goo	te of gross		t.	on 4 <sup>th</sup> April, amounted to Rs. 100.				
Goo	te of gross	profit is 33-1/3% on cost	t.					
Rati	te of gross	profit is 33-1/3% on cost	t. al stock as on 31.3.2018					
Rati Rec	te of gross quired: Asce rticulars A Value of	profit is 33-1/3% on cost rtain the value of physica STATEMENT OF VALUAT Stock as on 9th April	t. al stock as on 31,3,2018 FION OF PHYSICAL STOCK A	AS ON 31 <sup>ST</sup> MARCH, 2018				
Rati Red	te of gross quired: Asce rticulars A Value of S B Add:Cost	profit is 33-1/3% on cost rtain the value of physica STATEMENT OF VALUAT Stock as on 9th April of Sales during the intervenin	t.  al stock as on 31.3.2018  FION OF PHYSICAL STOCK A  g period [ Rs. 1,720 x 25%]	AS ON 31 <sup>ST</sup> MARCH, 2018  Rs.  25,000 1,290				
Rational Records and Records a	te of gross quired: Asce rticulars A Value of S B Add:Cost C Less:Purc	profit is 33-1/3% on cost rtain the value of physica STATEMENT OF VALUAT Stock as on 9th April of Sales during the intervenin	t.  al stock as on 31.3.2018  FION OF PHYSICAL STOCK A  g period [ Rs. 1,720 x 25%]  the interveningperiod [ Rs. 120 -	AS ON 31 <sup>ST</sup> MARCH, 2018  Rs.  25,000 1,290				

8. **18** | Page

#### **NAHTA PROFESSIONAL CLASSES**

Q12>	Mr V						
	Mr Vijay's financial year ends on 31st March 2018, but actual stock is not taken until the following 8th						
	April when it is ascertained at Rs. 7,425.						
	You find that:						
	(a) Sales are entered in the sales book on the same day as dispatched and returns inward in the return						
	inwai	d book the day the goods are received back.					
	(b)P	urchases are entered in the purchases day book as the invoices are received.					
	(c) 5	Sales between 31st March and 8th April as per the sales day book and cash book	are Rs. 8,600.				
	(d)P	urchases between 31st March and 8th April as per the purchases day book are R.	s. 660 but, of these				
		amounting to Rs. 60 are not received until after the stock was taken.	,				
		oods invoiced during the March (before 30 <sup>th</sup> March) but not received until afte.	r 30 <sup>th</sup> March				
	amou	nted to Rs. 500 of which Rs. 350 worth are received between 31st March and 8	3 <sup>th</sup> April.				
	(f)	Rate of Gross Profit is 33.33% on cost.Ascertain the value of Stock on 31st Ma	arch, 2018				
Sol:	STATEMENT SHOWING COMPUTATION OF STOCK AS ON 31st MARCH, 2018						
	Partio	ulars	Rs.				
	A	Stock as on 8 <sup>th</sup> <b>April</b>	7,425				
	В	Add:Cost of goods sold after 31, March [75% of Rs. 8,600]	6,450				
	С	Less:Cost of goods purchased & received after 31st March [ Rs. 660 – Rs. 60]	600				
	D	Add:Purchases invoiced before 31st March, not received					
		upto 8th April (Rs. 500 - Rs. 350)	150				

#### **NAHTA PROFESSIONAL CLASSES**

	and .	31st March, the following transactions had taken place:			
	(b)	Out of goods sent on consignment, goods worth Rs. 30,000 (at cos	t) were unsold.		
	(c) Sales were Rs. 1,70,000. These includes goods worth Rs. 40,000 sent on approval. Half of returned before 31st March, as regards remaining, no information is received. Option period is d) Normally firm sells goods on cost + 25%. However, one lot of goods costing Rs. 30,000 w				
	Rs. I	5,000.			
Sol:	STAT	TEMENT SHOWING THE VALUATION OF STOCK AS ON 31 ST MARC	CH, <b>20</b> 18		
	Partic	culars		Rs	
	A	Physical Stock as on 23 <sup>rd</sup> March		6,00,000	
	В	Add: (a) Cost of Goods purchased after stock taking till 31st March			
		Goods received	30,000		
		Goods in transit	20,000		
		(b) Cost of Stock on Consignment	30,000	80,000	
	С	Less: Cost of Goods sold after stock taking till 31st March			
		(a) Cost of Normal Sales (80% of Rs. 1,15,000)	92,000		
		(b) Cost of Abnormal Sales	30,000	(1,22,000)	
	D	Stock as on 31st March (A + B - C)		5,58,000	
	Worki	ing Note: Calculation of Normal Sales		Rs.	
	A Act	tual Sales (given)		1,70,000	
	B Les	ss (a) Sale of Abnormal Items		15,000	
	(b) 6	Goods sent on approval basis		40,000	
	C Noi	rmal Sales (A – B)		1,15,000	
	Note:	: Since the stock given on 23rd March already includes the cost of g	goods sent on approv	val basis,	
	no ac	djustment is required in this respect. It is assumed that Goods are l	being sold after 23"	<sup>†</sup> March	
Q15>	Follo	wing information are available from the books of accounts of AB an	nd Co. for the year 2	2017-2018:	
				Rs.	
	D.w.s.ls	ases during the year		28,200	

#### **NAHTA PROFESSIONAL CLASSES**

	Stock on 1-4-2017			5,960		
	Sales during the year			31,610		
	At the time of valuation of stock for 2016-2017, a part of the stock costing Rs. 1,800 was recorded					
	in the books for Rs. 1,560; one-third of these goods w	ere sold during the	e year for Rs. 610.			
	Required: Find out the value of the stock as on 31st M	1arch 2018 assumi	ng that firm makes	25%		
	profit on cost.					
Sol:	STATEMENT SHOWING THE VALUE (	OF STOCK AS ON	31st MARCH 2018			
	Particulars	Normal Item	Abnormal Item	Total		
		Rs.	Rs.	Rs.		
	A Opening Stock	4,400	1,560	5,960		
	B Purchases	28,200	-	28,200		
	C Cost of goods available for sale (A + B)	32,600	1,560	34,160		
	D <b>Less:</b> Cost of goods sold: Normal [80% of Rs. 31,610 – Rs. 610 ] Abnormal [1/3 of Rs. 1,560]	24,800	520	25,320		
	E Value of Closing Stock	7,800	1,040	8,840		
	Thus, Book value of Closing Stock Rs. 8,840.					
(16>	From the following information, ascertain the value of stock as o	n 31.3.2018:		Rs.		
(16>	From the following information, ascertain the value of stock as o	n 31.3.2018:		Rs.		
)16>	,	n 31.3.2018:				
(16>	Value of Stock on 1.4.2017	n 31.3.2018:		70,000		
Q16>	Value of Stock on 1.4.2017  Purchases during the period from 1.4.2017 to 31.3.2018	n 31.3.2018:		70,000		

#### **NAHTA PROFESSIONAL CLASSES**

	STATEMENT SHOWING THE VALUATION OF CLOSING STOCK AS AT 3IST MA					<u> </u>
	Pai	rticulars			,	Rs. Rs.
	A	Normal Sales [ Rs. 5,22,000	) - Rs. 16,000]			5,06,000
	B Less:Gross Profit @ 20% on Sales					1,01,200
	C Cost of Goods sold					4,04,800
	D Less:Opening Stock of Normal Goods [ Rs. 70,000 - Rs. 14,000]				56,0	00
		Purchases			3,46,0	00
		Manufacturing Expenses			70,0	00 4,72,000
	Ε	Value of Stock as on 31.3.20	018			67,200
		he following information as	certain the value	of stock as on 31st	March, 2018 a.	na aiso the
	Stock as	on 1.4.2017	Rs. 14,250	Administrative Expense	s	Rs. 3,000
į	Purchase	25	Rs. 76,250	50 Financial Charges		Rs. 2,150
	Manufaa	turing Expenses	Rs. 15,000	Color		B: 126.500
	Мапитас	curring expenses	K3. 15,000	Sales		Rs. 1,24,500
	Selling E		Rs. 6,050		) was written o	
i	Selling E At the item, w	time of valuing stock as or which was originally purchase insaction relating to this ite	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of	7, a sum of Rs. 1,750 and was sold during	the year at Rs	ff on a particular . 4,500. Barring percent on sales.
i t	Selling E At the item, w	time of valuing stock as or which was originally purchas ensaction relating to this ite STATEMENT O	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of	r, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs	ff on a particular . 4,500. Barring percent on sales.
i t	Selling E At the item, w the trai	time of valuing stock as or which was originally purchas ensaction relating to this ite STATEMENT O	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of	r, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs year was 20 p	ff on a particular 4,500. Barring percent on sales.
i t	Selling E  At the  item, w  the train  Particula  A	time of valuing stock as or which was originally purchase insaction relating to this items.  STATEMENT O	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of  em, the gross prof	T, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs e year was 20 p ST MARCH, 20 Rs.	ff on a particular 4,500. Barring percent on sales.
i t	Selling E  At the  item, w  the train  Particula  A  B. L	time of valuing stock as or which was originally purchase insaction relating to this ite	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of  em, the gross prof	T, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs e year was 20 p ST MARCH, 20  Rs. 14,250	ff on a particular 4,500. Barring percent on sales.  Rs.
i t	Selling E  At the  item, w  the train  Particula  A  B. L  C. A	time of valuing stock as or which was originally purchas unsaction relating to this ite  STATEMENT O	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of  em, the gross prof	T, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs e year was 20 p ST MARCH, 20  Rs. 14,250	ff on a particular  4,500. Barring  percent on sales.  18  Rs.  11,000
i t	Selling E  At the  item, w  the train  Particula  A  B. L  C. A	time of valuing stock as or which was originally purchase insaction relating to this ite	Rs. 6,050  n 31 <sup>st</sup> March, 2017  sed for Rs. 5,000 of  em, the gross prof	or, a sum of Rs. 1,750 and was sold during fit earned during the	the year at Rs e year was 20 p ST MARCH, 20  Rs. 14,250	ff on a particular  4,500. Barring  percent on sales.  18  Rs.  11,000  76,250
t t Sol:	Selling E  At the  item, w  the trace  Particula  A S  B. L  C. A	time of valuing stock as or which was originally purchase insaction relating to this ite	Rs. 6,050  n 31st March, 2017  sed for Rs. 5,000 of  em, the gross prof  OF VALUATION OF  ock (Rs. 5,000 - 1,750)	and was sold during fit earned during the STOCK AS ON 31	the year at Rs e year was 20 p ST MARCH, 20  Rs. 14,250	ff on a particular  4,500. Barring  percent on sales.  18  Rs.  11,000  76,250  15,000

#### **NAHTA PROFESSIONAL CLASSES**

#### M:8878819888 / 8518819888

	ticulars Rs.	Rs
A.	Gross Profit on Normal Sales	24,000
В.	Add:Profit on abnormal item] 4,500 – 3,250]	1,250
C.	Less:Overhead Expenses:	
	Selling Expenses 6,050	
	Administrative Expenses 3,000	
	Financial Charges 2,150	11,200
D.	Net Profit	14,050
The	e Profit and Loss Account of Hanuman showed a net profit of Rs. 60,000, after consi	dering the
clo	sing stock of Rs. 37,500 on 31st March, 2018. Subsequently the following information	was
obi	tained from scrutiny of the books:	
(j)	Purchases for the year included Rs. 1,500 paid for new electric fittings for the shop	o.
(ii)	Hanuman gave away goods valued at Rs. 4,000 as free samples for which no entry w	uas made in
the	e books of accounts.	
(iii	) Invoices for goods amounting to Rs. 25,000 have been entered on 27th March, but	the goods
we	re not included in stock.	
	) In March, goods of Rs. 20,000 sold and delivered were taken in the Sales for April,	2018.
(iv	Goods costing Rs. 7,500 were sent on sale or return in March, 2018 at a margin of p	profit of 33.33
(v)	on cost. Though approval was given in April, these were taken as sales for March.	
(v) %	on cost. Though approval was given in April, these were taken as sales for March. Quired: Calculate the value of stock on 31st March, 2018 and the Adjusted Net Profit	for the
(v) % Red		for the
(v) % Red	quired: Calculate the value of stock on 31st March, 2018 and the Adjusted Net Profit	

8. **23 |** Page

#### **NAHTA PROFESSIONAL CLASSES**

B Add: Purchases not included	25,000						
C Add: Cost of Goods sent on approve	al .		7,500				
D Stock as on 31 st March 2018			70,000				
DR.	PROFIT & LOSS ADJ	USTMENT ACCOUNT	CR.				
Particulars	Rs.	Particulars	Rs.				
To Customer's A/c	10,000	By Profit as per P & L A/c	60,000				
(Selling Price of Goods sent		By Fixtures & Fittings A/c	1,500				
on approval)		By Closing Stock (in transit) A/c	25,000				
To Net Profit for the year	1,04,000	By Customer's A/c	20,000				
		By Closing Stock with customer					
		(on approval)	7,500				
	1,14,000		1,14,000				
	Credited and hence not shown in the above account.						
> The Profit and Loss Account of	Cardamam for th	ne year ended 31st March, 2018 showed	d a net profit of				
Rs. 2,800 after taking into acco		,	a a nee prone or				
· ·							
On a scrutiny of the books the	following informa	tion could be obtained:					
(a) Cardamom has taken goods	valued Rs. 1,500 i	for his personal use without making el	ntry in the books.				
(b) Purchases of the year incl	(b) Purchases of the year included Rs. 600 spent on acquisition of a ceiling fan for his shop.						
(c) Invoices for goods amounti	(c) Invoices for goods amounting to Rs. 4,000 have been entered on 29th March, but such goods were						
Not included in stock.	Not included in stock.						
(d) Rs. 500 have been included	(d) Rs. 500 have been included in closing stock in respect of goods purchased and invoiced on 28 <sup>th</sup>						
March, but included in purchase	for April 2018.						
(e) Sale of goods amounting t	o Rs. 610 sold an	d delivered in March, had been entere	d in April sales.				

#### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

ol:	STATEMENT SHOWING THE VALUATION OF STOCK AS AT 31 ST MARCH 20					
	Parti	iculars			Rs.	
	A. Stock as already stated					
	В.	Add: Purchases not included			Rs. 4,000	
	С.	Stock as on 31st March			Rs. 8,720	
	DR.	PROFIT	AND LOSS AI	SJUSTMENT ACCOUNT	CR.	
		iculars		Particulars	Rs.	
	To S	Suppliers A/c	500	By Profit as per P&L A/c	2,800	
	To N	let Profit for the year	9,010	By Drawings A/c (Goods taken for domestic use)	1,500	
				By Fixture and Fittings A/c (Ceiling fan) (b)	600	
				By Closing Stock A/c (In transit)	4,000	
				By Customer's A/c (e)	610	
			9,510		9,510	
20>	FY l	Ltd. Conducts physical stock t	aking every ye	ar at the end of the accounting year. Due t	o certain	
20>	diffi	iculties, it was not possible for	it to conduct	ar at the end of the accounting year. Due to physical stock taking at the end of the accounting on 7th April when it was valued at Rs.	counting year	
20>	diffi endi	iculties, it was not possible for	it to conduct	physical stock taking at the end of the accarded and the	counting year	
20>	diffi endi The	iculties, it was not possible for ing on 31 March, 2018. Physico following transactions took pla	it to conduct  I stock was to	physical stock taking at the end of the accarded and the	counting year 34,500.	
20>	diffi endi The	iculties, it was not possible for ing on 31 March, 2018. Physica following transactions took pla Sales during the period were R	it to conduct  al stock was to  ace during 1st a  s. 9,340. Thes	physical stock taking at the end of the accarded and the	counting year 34,500.	
20>	diffi endi The (a):	iculties, it was not possible for ing on 31 March, 2018. Physical following transactions took pla Sales during the period were R cost except goods which realize	it to conduct al stock was to ace during 1st a s. 9,340. Thes ad Rs. 840 on	physical stock taking at the end of the acceptance on 7th April when it was valued at Rs.  April to 7th April.  e goods were sold at the usual rate of gross	counting year 34,500.	
20>	diffi endi The (a):	iculties, it was not possible for ing on 31 March, 2018. Physical following transactions took pla Sales during the period were R cost except goods which realize	it to conduct al stock was to ace during 1st a s. 9,340. Thes ad Rs. 840 on	physical stock taking at the end of the accordance on 7 <sup>th</sup> April when it was valued at Rs.  April to 7 <sup>th</sup> April.  e goods were sold at the usual rate of gross the basis of 20% profit on cost.	counting year 34,500.	
20>	diffi endi The (a): on c (b)	iculties, it was not possible for ing on 31 March, 2018. Physical following transactions took pla Sales during the period were R cost except goods which realized Purchases during the period was pany on 10th April.	it to conduct al stock was to ace during 1st a s. 9,340. Thes ad Rs. 840 on were Rs. 7,500	physical stock taking at the end of the accordance on 7 <sup>th</sup> April when it was valued at Rs.  April to 7 <sup>th</sup> April.  e goods were sold at the usual rate of gross the basis of 20% profit on cost.	counting year 34,500.  profit 25% ivered to the	
20>	diffi endi The (a): on c (b) com	iculties, it was not possible for ing on 31 March, 2018. Physical following transactions took pla Sales during the period were R cost except goods which realized Purchases during the period was pany on 10th April.	it to conduct al stock was to ace during 1st a s. 9,340. Thes ad Rs. 840 on were Rs. 7,500	physical stock taking at the end of the acceptance on 7th April when it was valued at Rs.  April to 7th April.  e goods were sold at the usual rate of gross the basis of 20% profit on cost.  , of which Rs. 800 worth of goods were deligations.	counting year 34,500.  profit 25% ivered to the	

8. **25 |** Page

#### **NAHTA PROFESSIONAL CLASSES**

	Required: Prepare a statement showing clearly the value of the stock to be taken in	to account in FY			
	Ltd.'s final accounts for the year ended 31st March, 2018				
Sol:	STATEMENT SHOWING THE VALUATION OF STOCK AS AT 31 ST MARCH 2018				
	Particulars	Rs.			
	A. Physical Stock as at 7 <sup>th</sup> April	34,500			
	B. Add: Cost of Sales after 31st March (Rs. 6,800 + Rs. 700)	7,500			
	C. Less: Cost of goods purchased & received after 31 st March (Rs. 7,500 – Rs. 800)	(6,700)			
	D. Less: Cost of Sales returns after 31st March (Rs. 600 + Rs. 625)	(1,225)			
	E. Less:Consignment Stock	(4,000)			
	F. Value of Stock as at 31st March	30,075			
Q21>	SC 1+d classes its backs on 21st March and war in the beginning of March 2019 h	bassausa of a myonasa			
4217	SG Ltd. closes its books on 31st March each year. In the beginning of March 2018 k	because of a proposa			
	for sale of business (which later fell through), the firm carried out stock taking on 10th March. The				
	figure of stock was established as Rs. 62,500 (cost) as on that date. The firm decided not to carry out				
	any stock taking on 31st March, 2018. From the information given below, arrive at the stock as on that				
	date:				
	(a) Sales from 11th March to 31st March totalled Rs. 43,200 including Rs. 3,000 sale	e of goods which had			
	cost Rs. 3,600. The firm's mark up on cost is 25%.				
	(b) Purchases during the same period totalled Rs. 29,200.				
	(c) Sales returns and purchase returns were respectively Rs. 2,200 and Rs. 1,200 in this period.				
	(d)Goods with customers on sale or return basis were Rs. 10,000 (proforma invoice value). The goods				
	Had been sent on 9th March the customers had the right of returning the goods within four weeks but				
	it was known that one customer who had goods worth Rs. 4,000 had pledged them	with a bank.			

#### NAHTA PROFESSIONAL CLASSES

M:8878819888 / 8518819888

Sol:	STATEMENT SHOWING THE VALUATION OF STOCK AS AT 31st MAI	RCH 2018	
	Particulars	Rs.	
	A. Physical Stock as at 10th March	62,500	
	B. Less: Cost of Sales (Rs. 32,160 +13,600)	(35,600)	
	C. Add: Cost of Purchases	29,200	
	D. Add: Cost of Sales Returns (80% of Rs. 2,200)	1,760	
	E. Less: Cost of Purchase Returns	(1,200)	
	F. Add: Cost of goods sent on approval [(80% of (10,000 - 4,000)]	4,800	
		61,300	
	Note: Pledge of goods amounts to acceptance of goods.		
Q22>	Raj Ltd. prepared their accounts financial year ended on 31st March 2019. Due to unavoidable		
	Circumstances actual stock has been taken on 10th April 2019, when it was ascertained at Rs 1,25,000.		
	It has been found that;		
	(i) Sales are entered in the Sales Book on the day of dispatch and return inwards in the Returns		
	Inward Book on the day of the goods received back.		
	(ii) Purchases are entered in the Purchase Book on the day the Invoices are received.		
	(iii) Sales between 1st April 2019 to 9th April 2019 amounting to Rs 20,000 as per Sales Day Book.		
	(iv) Free samples for business promotion issued during 1st April 2019 to 9th April 2019 amounting to Rs		
	4,000 at cost.		
	(v) Purchases during 1st April 2019 to 9th April 2019 amounting to Rs 10,000 but goods amounts to Rs		
	2,000 not received till the date of stock taking.		
	(vi) Invoices for goods purchased amounting to Rs 20,000 were entered on 28th March 2019 but the		
	goods were not included in stock.		
	Rate of Gross Profit is 25% on cost.		
	Ascertain the value of Stock as on 31st March 2019.	(May 2019)	
OL:			
_	27   Page	TIK NAUTA	

8. **27 |** Page

#### **NAHTA PROFESSIONAL CLASSES**

M:8878819888 / 8518819888

### Statement of Valuation of Physical Stock as on 31st March, 2019

	₹	₹
Value of stock as on 10 <sup>th</sup> April, 2019		1,25,000
Add: Cost of sales during the intervening period		,,
Sales made between 1.4.2019 and 9.4.2019	20,000	
Less: Gross profit @20% on sales	(4,000)	16,000
Free sample	(1)2227	4,000
		1,45,000
Less: Purchases actually received during the intervening period:		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Purchases from 1.4.2019 to 9.4.2019	10,000	
Less: Goods not received upto 9.4.2019	(2,000)	(8,000)
		1,37,000
Add: Purchases during March, 2019 but not recorded in stock		20,000
Value of physical stock as on 31.3.2019		1,57,000